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Question Number : 1 Question Id : 953357173249 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following statement is correct about principles of child development?

Options :

1. Development occurs from central part of the body toward peripheries.

2. Development is not influenced by heredity and environment.

3. Development in one domain doesn't have any influence on development in other domains.

4. Development is purely quantitative and can be measured precisely.

Question Number : 1 Question Id : 953357173249 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 2 Question Id : 953357173250 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Language development among children gets influenced by -

Options :

1. genetics only.

2. environment only.

3. genetics as well as environment.

4. neither genetics nor environment.

Question Number : 2 Question Id : 953357173250 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 3 Question Id : 953357173251 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A progressive classroom -

Options :

1. gives primacy to silent listening only.

2. respects individual differences among learners.

3. is marks - oriented.

4. is based on behaviouristic principles of learning.

Question Number : 3 Question Id : 953357173251 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 4 Question Id : 953357173252 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In Lawrence kohlberg's theory of moral development "Obeying rules to avoid punishment" represents -

Options :

1. Pre- conventional stage

2. Formal operational stage

3. Conventional stage

4. Post conventional stage

Question Number : 4 Question Id : 953357173252 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 5 Question Id : 953357173253 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In order to facilitate the learning process, a teacher should use strategies which emphasise on :

Options :

1. the progression of concept from complex to simple.

2. the primacy of convergent thinking.

3. exploring the relationships between different concepts.

4. creating competitive culture among students.

Question Number : 5 Question Id : 953357173253 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

ST TTSRAT 1 FATET F0 3 1070, T SIS i UF T TeaTed ] =

Options :

| TS Herea T T SAdeta & TRerdT i ST 2|

, I SAUEHT A il AT 3
;1 = SRt o o= S @i % 9eed g

S Rt 3 e e e et



Question Number : 6 Question Id : 953357173254 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Lev Vygotsky's theory mainly focuses on explaining :

Options :

1. the impact of heredity on development.

2. the role of cultural tools in cognitive development.

3. the bio ecological model of socialisation.

4. the impact of attribution pattern on motivation.

Question Number : 6 Question Id : 953357173254 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 7 Question Id : 953357173255 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

During a discussion on "Cricket", a teacher is posing questions mostly to boys and not to girls. This act of teacher is an example of :
Options :

1. Gender Empowerment

2. Gender bias

3. Gender relevance

4. Gender threat

Question Number : 7 Question Id : 953357173255 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 8 Question Id : 953357173256 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

In a child-centered classroom, a teacher gives importance to -
Options :

1. frequent objective type examinations.

2. active knowledge construction process.

3. completion of syllabus in whatever way possible.

4. strict disciplinary practices based on punishment.

Question Number : 8 Question Id : 953357173256 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 9 Question Id : 953357173257 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is primary agent of socialisation for children?

Options :

1. Books and magazines

2. Immediate family

3. Parent's work place

4. Staff at hospital

Question Number : 9 Question Id : 953357173257 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 10 Question Id : 953357173258 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Concrete operational stage in Jean Piaget's theory of cognitive development corresponds to the age group -

Options :

1. Birth O - 2 years



2.2 -7 years
3.7 - 11 years
4. Above 11 years

Question Number : 10 Question Id : 953357173258 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 11 Question Id : 953357173259 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

You are a teacher who believes that "children learn at varied paces and in different ways". In your class, you will plan assessment which :
Options :

1. is same for all students.

2. includes objective type questions only.

3. is not related to how children learn.

4. is based on different methods of assessment.

Question Number : 11 Question Id : 953357173259 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 12 Question Id : 953357173260 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

As per Lev Vygotsky's theory which of the following is an effective strategy of scaffolding the teaching - learning process?

Options :

1. Providing rigid step-by step instructions to solve problems.

2. Punishing the children for incorrect answers.

3. Giving hints and cues if children are stuck at some point while solving the problem.

4. Complete non- interference of teacher in the process.



Question Number : 12 Question Id : 953357173260 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 13 Question Id : 953357173261 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following statements is correct about intelligence?

Options :

1. Intelligence can be measured only through Intelligence quotient (IQ) tests.

2. Genetics play no role in creating individual differences in intelligence.

3. High intelligence is one domain ensures high intelligence in other domains also.

4. Intelligence is more than the ability to perform well in school.

Question Number : 13 Question Id : 953357173261 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 14 Question Id : 953357173262 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Seeing a horse, a three year old child exclaimed. "Wow! Such a big dog". As per Jean Piaget's theory of cognitive development , this
response by child is an example of :

Options :

1. assimilation.

2. make-believe.

3. object - permanence.
4. deferred imitation.



Question Number : 14 Question Id : 953357173262 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 15 Question Id : 953357173263 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Lev Vygotsky's ideas Language and thought suggest that -

Options :

1. language guides cognitive development.

2. cognitive development guides language.

3. there is no relation between language and cognition.

4. cognition is independent of language.

Question Number : 15 Question Id : 953357173263 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 16 Question Id : 953357173264 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Creativity among children can be facilitated :

Options :

1. by encouraging exploration.

2. through teacher - centric pedagogy.

3. by drill and repetition.

4. through imitation only.

Question Number : 16 Question Id : 953357173264 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 17 Question Id : 953357173265 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Dyscalculia is directly associated with :

Options :

1. locomotor disability.

2. fluency in understanding other's motives.

3. musical ability.

4. difficulty in learning of mathematical concepts.

Question Number : 17 Question Id : 953357173265 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Ut SR, T AR o e 5 o @ wafae 22

Options :

| - s E

2
s W T E
| e e s B R

Question Number : 18 Question Id : 953357173266 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Right to Education Act (2009) has a provision of Reservation of seats in Privates schools for admission of students from Economically
weaker section (EWS). In order to successfully these students a, a teacher should use pedagogy based on -

Options :

1. discrimination.
2. segregation.

3. equity.

4. equality.

Question Number : 18 Question Id : 953357173266 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 19 Question Id : 953357173267 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In an inclusive classroom, information should be presented in :

Options :

1. textual form only.

2. visual form only.

3. verbal form only.

4. multiple forms.

Question Number : 19 Question Id : 953357173267 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 20 Question Id : 953357173268 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

According to contemporary polices of Education, which of the following is the most suggested model of schooling for children with
disabilities?

Options :

1. Only vocational education

2. Inclusive education

3. Separate education

4. Integrated Education

Question Number : 20 Question Id : 953357173268 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Toven ot Tl iferat 3 ST, feeai s it e 3 o wm-a1 e geman @ 22



Options :

| I ST foTaT]
, TETErET faram)
;. ST faTe|

, SreHfeTe wehTe e

Question Number : 21 Question Id : 953357173269 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is not correct about the learning process?

Options :

1. Learning is a continuous process.

2. Error and mistakes are irrelevant in the process of learning.

3. Learning is based on personal and environmental factors.

4. Learning takes place in a spiral manner and not in linear manner.

Question Number : 21 Question Id : 953357173269 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 22 Question Id : 953357173270 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Repeatedly telling the child that ' he/she is not capable of learning ' is likely to -

Options :

1. demotivate the child to learn.

2. fasten the pace of learning for child.

3. motivate the child to learn.

4. have no effect on child's learning.

Question Number : 22 Question Id : 953357173270 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 23 Question Id : 953357173271 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Problem - solving skills can be enhanced by :

Options :

1. fixating on conventional use of materials.

2. representing problems in standardised format.

3. considering alternative ways of solution.

4. rote memorisation.

Question Number : 23 Question Id : 953357173271 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 24 Question Id : 953357173272 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

To teach a concept to students in primary grades, which of the following sequence of representation of content is most appropriate?
Options :

1. symbols, pictures, concrete materials.

2. pictures, symbols, concrete materials.

3. symbols, concrete materials, pictures.

4. concrete materials, pictures, symbols.

Question Number : 24 Question Id : 953357173272 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 25 Question Id : 953357173273 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Classroom environment has a significant on children's learning. To inculcate a culture of mastery oriented learning (learning that focuses
on understanding) , learning, classroom environment should be :

Options :

1. Performance oriented.

2. competitive and individualistic.
3. teacher dominated.

4. cooperative and collaborative.

Question Number : 25 Question Id : 953357173273 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 26 Question Id : 953357173274 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is a correct statement in content of learning?

Options :

1. Examination is the ultimate goal of learning.

2. Learning is a passive process and it doesn't require engagement of learners.

3. Emotions have no influence on the process of learning.

4. Learning is a complex process which requires active engagement of learners.

Question Number : 26 Question Id : 953357173274 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 27 Question Id : 953357173275 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Socio-Constructivist view of learning emphasise on the importance of in process of learning.

Options :

1. interactions

2. rewards and Punishments

3. heredity only

4. inflexible pedagogical approaches

Question Number : 27 Question Id : 953357173275 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 28 Question Id : 953357173276 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is a correctly matched pair of influencer and source of motivation?

Options :

1. Self - fulfilment — Extrinsic motivation

2. Curiosity — intrinsic motivation

3. Cash prize — intrinsic motivation

4. Interest — extrinsic motivation

Question Number : 28 Question Id : 953357173276 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 29 Question Id : 953357173277 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

To facilitate conceptual understanding among students , a teacher should :

Options :

1. encourage students to learn through rote memorisation.

2. not include examples and non-examples in the discussion of concepts.

3. provide opportunities to make connections between what has been presented and what they know already.

4. rely only on lecture method for teaching.

Question Number : 29 Question Id : 953357173277 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 30 Question Id : 953357173278 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Which of the following factors influence learning ?

(i) Motivation
(i) Social content
(iii) Emotions

(iv) Pedagogical approaches
Options :

L. (1),(i1), (iv)

2. (1),(iii), (iv)

3. (i),(ii1)

4. (1),(i1), (iii), (iv)

Question Number : 30 Question Id : 953357173278 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 31 Question Id : 953357173279 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The rate list of groceries in a shop are depicted as follows:

Rice (1KG) 370
Black gram (1KG) 390
Wheat Flour [1KG) %45
Coriander powder (250g) 240
Chilli Powder (250g) %60
Salt (1 Pkt) 325
Biscuit (1 Pkt) 120

Ashish needs to buy 5kg of rice, 5kg of wheat flour, 250g of coriander powder, 250g of chilli powder, 2kg of black gram
and some packets of biscuit with remaining money. If he is having 1000, how many biscuit packets can be buy?

Options :

Question Number : 31 Question Id : 953357173279 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



